

MILTON MARTIN HONDA CLASSIC

<u>Year</u>	<u>Champion</u>	<u>Round 1</u>	<u>Round 2</u>		<u>Total</u>	<u>To Par</u>	<u>Won By</u>	<u>After 18</u>	<u>E</u>	<u>B</u>	<u>P</u>	<u>B</u>	<u>DB</u>	<u>O</u>
2024	Francisco Bide	66	70	=	136	(-8)	1	1st, 4 ahead	2	7	24	3	0	0
2023	Jacob Tilton	69	65	=	134	(-10)	2	T-2, 1 back	0	12	22	2	0	0
2022	(a) Hunter Clay	69	69	=	138	(-6)	1	T-2, 2 back	0	9	24	3	0	0
2021	Greg Edwards	63	65	=	128	(-16)	14	1st, 7 ahead	1	16	17	2	0	0
2020	James Mason	69	65	=	134	(-10)	1	T-6, 4 back	0	13	20	3	0	0
2019	Matt Elliott	67	67	=	134	(-10)	1	4 way T-1st	0	11	24	1	0	0
2018	Paul Claxton	65	71	=	136	(-8)	1	1st, 1 ahead	0	10	24	2	0	0

<u>Year</u>	<u>Dates</u>	<u>Players</u>	<u>Pros</u>	<u>Ams</u>	<u>Rounds</u>	<u>18 Avg.</u>	<u>Rnd. 1 Avg.</u>	<u>Rnd. 2 Avg.</u>	<u>Low 18</u>	<u>60s</u>	<u>Eagles</u>
2024	Sep 16-17	105	73	32	201	76.935	78.136	75.673	66	9	7
2023	Sep 11-12	81	50	31	157	77.127	77.605	76.618	65	10	4
2022	Jun 27-28	106	62	44	211	77.403	76.981	77.829	67	7	10
2021	Oct 25-26	69	44	25	135	77.993	77.623	78.379	63	2	3
2020	Jun 1-2	120	66	59	240	75.183	75.333	75.033	65	24	12
2019	May 20-21	89	56	33	176	74.841	75.303	74.368	64	16	8
2018	May 7-8	74	52	22	145	74.890	74.338	75.465	65	16	6

322 different players have played 1265 rounds and have taken 96,509 strokes. (76.292 average)

There have been 84 rounds under 70 played. (6.7%)

There have been 235 under par rounds played. (18.6%)

There have been 318 rounds of par or better played. (25.1%)

Bill Murchison and **Daniel Shana** have made the only holes-in-ones. (1 in every 2530 par 3s played)

There have been 7 eagle "2s" made. (1 in every 1807 par 4s played)

There has been 1 eagle "2" made in each of the 7 Milton Martin Honda Classics.

There have been 41 eagle "3s" made. (1 in every 123 par 5s played)

Chris Cartwright, Jim Foote, Peter Jones, Shaun Kelley, Craig Stevens, Michael Thelen, and Chad Thomas have played in each of the 7 Milton Martin Honda Classics.

Since the course redesign in 2021, the lowest front-nine score is 31 and the lowest back-nine score is 32.

Greg Edwards shot a front-nine 31 and a back-nine 32 in his tournament record 63 in round one in 2021.

There were 2 scores in the 60s in 2021. **Greg Edwards**, with 63 and 65, shot both of them.

Tyler Hays finished his tournament in 2021 with a hole-out eagle 2 on hole 18.

LOW AMATEUR

2024	Kai Marko	74	69	=	143	(-1)	T-6th
	Charles Beeson	72	71	=	143	(-1)	T-6th
2023	R. B. Clyburn	69	71	=	140	(-4)	T-6th
2022	Hunter Clay	69	69	=	138	(-6)	Won by 1
2021	R. B. Clyburn	71	73	=	144	Even	T-4th
2020	R. B. Clyburn	72	69	=	141	(-3)	T-11th
	Evan Thompson	70	71	=	141	(-3)	T-11th
2019	Brandon Cho	70	70	=	140	(-4)	T-7th
	Chad Thomas	67	73	=	140	(-4)	T-7th
2018	Nathan Williams	66	71	=	137	(-7)	2nd

MILTON MARTIN HONDA CLASSIC STATISTICS 2018 - 2024

*There was a Senior Division in 2020 in which 5 players participated..
Those 5 players were counted as regular players in all statistics.*

POINTS LEADERS

*Based on the Georgia PGA Points Distribution Chart
No 20% bonus for overall win.*

<u>Player</u>	<u>Points</u>	<u>Events</u>	<u>Points Per Event</u>
Jacob Tilton	4078.50	6	679.75
J. P. Griffin	3665.00	5	733.00
Anthony Cordes	3375.00	6	562.50
James Mason	3135.83	6	522.64
Tim Weinhart	2907.50	5	581.50
Luke James	2857.50	6	476.25
Hunter Clay	2548.00	4	637.00
Sonny Skinner	2493.50	6	415.58
Greg Edwards	2487.50	3	829.17
(a) R. B. Clyburn	2228.00	5	445.60
Peter Jones	2145.00	7	306.43
Todd Ormsby	2029.30	5	405.86
Chad Thomas	2023.00	7	289.00
Chris Cartwright	1893.00	7	270.43
Francisco Bide	1801.80	3	600.60

TOP TENS

<u>Player</u>	<u>Top 10s</u>	<u>Starts</u>	<u>Best Finish</u>
J. P. Griffin	5	5	T-2nd 2020, 2022
James Mason	4	6	Win 2020
Jacob Tilton	4	6	Win 2023
Luke James	4	6	T-4th 2023
Greg Edwards	3	3	Win 2021
Tim Weinhart	3	5	T-2nd 2019
Todd Ormsby	3	5	T-6th 2024
Anthony Cordes	3	6	2nd 2021
10 Players with	2		
32 Players with	1		

During the 7 Milton Martin Honda Classic, players have made:

0	D. Eagles	0.00	per 18 holes
50	Eagles	0.04	per 18 holes
2839	Birdies	2.24	per 18 holes
12952	Pars	10.24	per 18 holes
5762	Bogeys	4.55	per 18 holes
960	D. Bogeys	0.76	per 18 holes
207	Others	0.16	per 18 holes

HOLES-IN-ONE

Bill Murchison	Hole 5	2018	Round One
Daniel Shana	Hole 17	2020	Round Two

EAGLE TWOS

(a) Kevin Burns	Hole 14	2018	Round Two
Andrew Sterritt	Hole 7	2019	Round Two
Sonny Skinner	Hole 1	2020	Round One
Tyler Hays	Hole 18	2021	Round Two
(a) William Johanningmeier	Hole 11	2022	Round One
Alex Watkins	Hole 15	2023	Round One
Francisco Bide	Hole 7	2024	Round One

MOST EAGLES

<u>Player</u>	<u>Eagles</u>	<u>Rounds</u>	<u>Eagle every</u>
Shaun Kelly	3	12	72 holes
(a) Caleb Greiner	2	2	18 holes
(a) Steve Kibare	2	2	18 holes
Rex Ross	2	4	36 holes
Greg Edwards	2	6	54 holes
(a) Philip Crone	2	6	54 holes
Francisco Bide	2	6	54 holes
Jabir Bilal	2	10	90 holes
30 Players with	1		

MOST BIRDIES OR BETTER

<u>Player</u>	<u>Birdies +</u>	<u>Eagles</u>	<u>Birdies</u>	<u>Rounds</u>	<u>Per 18</u>
Jacob Tilton	52	0	52	12	4.333
J. P. Griffin	50	0	50	10	5.000
Luke James	45	0	45	12	3.750
Tim Weinhart	44	1	43	10	4.400
Peter Jones	42	0	42	14	3.000
Greg Edwards	42	2	40	6	7.000
James Mason	39	0	39	12	3.250
Chad Thomas	39	0	39	14	2.786
Chris Cartwright	37	0	37	14	2.643
(a) R. B. Clyburn	35	0	35	10	3.500
Anthony Cordes	35	0	35	12	2.917

LOWEST 36 HOLES

128	Greg Edwards	(63-65)	2021
134	Matt Elliott	(67-67)	2019
134	James Mason	(69-65)	2020
134	Jacob Tilton	(69-65)	2023
135	Tim Weinhart	(71-64)	2019
135	Jacob Tilton	(67-68)	2019
135	J. P. Griffin	(69-66)	2020
135	(a) Ruan Pretorius	(69-66)	2020

LOWEST ROUND ONE

63	Greg Edwards	(31-32)	2021
65	Paul Claxton	(33-32)	2018
65	Sonny Skinner	(30-35)	2020
66	(a) Nathan Williams	(32-34)	2018
66	Bill Murchison	(31-35)	2018
66	Francisco Bide	(33-33)	2024

LOWEST ROUND TWO

64	Tim Weinhart	(34-30)	2019
65	James Mason	(35-30)	2020
65	Greg Edwards	(33-32)	2021
65	Jacob Tilton	(32-33)	2023
66	6 Players		

LOWEST FRONT NINE 2021 - 2024

31	Greg Edwards	2021	Round One
31	Tyler Johnson	2024	Round Two
32	(a) Gabe Larson	2022	Round Two
32	Jacob Tilton	2023	Round Two
32	Chris Nicol	2024	Round Two
32	Jin Chung	2024	Round Two

LOWEST FRONT NINE 2018-2020

30	Sonny Skinner	2018	Round One
31	Bill Murchison	2018	Round One
31	Rex Ross	2019	Round Two

LOWEST BACK NINE 2021 - 2024

32	Greg Edwards	2021	Round One
32	Greg Edwards	2021	Round Two
32	(a) Ryan Demit	2022	Round Two
32	(a) Mason Dean	2023	Round One

LOWEST BACK NINE 2018 - 2020

30	Tim Weinhart	2019	Round Two
30	James Mason	2020	Round Two
31	(a) Davis Weaver	2019	Round Two
31	Scott Hare	2020	Round Two
31	Matt Elliott	2020	Round Two

STROKE AVERAGE LEADERS

Minimum 6 Rounds

<u>Player</u>	<u>18 Avg</u>	<u>Rounds</u>	<u>60s</u>	<u>Low 18</u>
Greg Edwards	67.833	6	3	63
J. P. Griffin	69.600	10	5	66
Tim Weinhart	70.000	10	3	64
Jacob Tilton	70.500	12	5	65
Anthony Cordes	70.917	12	3	67
Hunter Clay	71.250	8	3	67
Luke James	71.417	12	2	69
Dylan Malafronte	71.500	6	1	69
Francisco Bide	71.667	6	1	66
Jin Chung	71.667	6	1	66

LOW ROUND ONE AVERAGES

Minimum 3 Rounds

<u>Player</u>	<u>18 Avg</u>	<u>Rounds</u>	<u>60s</u>	<u>Low 18</u>
Greg Edwards	68.000	3	1	63
J. P. Griffin	69.600	5	2	69
Tim Weinhart	70.400	5	2	67
Jacob Tilton	70.833	6	3	67
Luke James	70.833	6	1	69
Dan Merriman	71.000	3	1	68
Anthony Cordes	71.167	6		69
(a) R. B. Clyburn	70.250	4	2	69
(a) Scotty Scott	71.333	3	0	71
Chris Shircliff	71.333	3	2	69
Francisco Bide	71.333	3		66

LOW ROUND TWO AVERAGES

Minimum 3 Rounds

<u>Player</u>	<u>18 Avg</u>	<u>Rounds</u>	<u>60s</u>	<u>Low 18</u>
Greg Edwards	67.667	3	2	65
J. P. Griffin	69.600	5	3	66
Tim Weinhart	69.600	5	1	64
Jacob Tilton	70.167	6	2	65
Anthony Cordes	70.667	6	2	67
Dylan Malafronte	71.000	3	0	70
Hunter Clay	71.000	4		67
(a) R. B. Clyburn	71.400	5	1	69
James Mason	71.500	5	1	65
Jin Chung	71.667	3		66

SCORING

	<u>ROUND ONE</u>		<u>ROUND TWO</u>		<u>TOURNAMENT</u>	
Averages	76.469		76.109		76.292	
<u>Rounds in</u>	<u>Rounds</u>	<u>Pct.</u>	<u>Rounds</u>	<u>Pct.</u>	<u>Rounds</u>	<u>Pct.</u>
60s	43	6.7%	41	6.6%	84	6.6%
70s	434	67.6%	439	70.5%	873	69.0%
80s	150	23.4%	133	21.3%	283	22.4%
90s	15	2.3%	10	1.6%	25	2.0%
<u>Rounds</u>	<u>Rounds</u>	<u>Pct.</u>	<u>Rounds</u>	<u>Pct.</u>	<u>Rounds</u>	<u>Pct.</u>
Under Par	115	17.9%	120	19.3%	235	18.6%
Even Par	41	6.4%	42	6.7%	83	6.6%
Over Par	486	75.7%	461	74.0%	947	74.9%

ROUNDS IN 60s

<u>Player</u>	<u>60s</u>	<u>Rounds</u>	<u>Pct.</u>
J. P. Griffin	5	10	50.0%
Jacob Tilton	5	12	41.7%
Matt Elliott	3	4	75.0%
Greg Edwards	3	6	50.0%
Hunter Clay	3	8	37.5%
Tim Weinhart	3	10	30.0%
(a) R. B. Clyburn	3	10	30.0%
Anthony Cordes	3	12	25.0%
James Mason	3	12	25.0%
9 Players with	2		
12 Players with	1		

ROUNDS UNDER PAR

<u>Player</u>	<u>RUP</u>	<u>Rounds</u>	<u>Pct.</u>
J. P. Griffin	9	10	90.0%
Tim Weinhart	8	10	80.0%
Luke James	8	12	66.7%
Anthony Cordes	7	12	58.3%
Jacob Tilton	7	12	58.3%
Greg Edwards	6	6	100.0%
Sonny Skinner	6	12	50.0%
(a) R. B. Clyburn	6	10	60.0%
James Mason	6	12	50.0%
Peter Jones	6	14	42.9%

ROUNDS PAR OR BETTER

<u>Player</u>	<u>RPB</u>	<u>Rounds</u>	<u>Pct.</u>
Luke James	10	12	83.3%
J. P. Griffin	9	10	90.0%
Anthony Cordes	9	12	75.0%
Jacob Tilton	9	12	75.0%
Tim Weinhart	8	10	80.0%
(a) R. B. Clyburn	7	10	70.0%
James Mason	7	12	58.3%
Craig Stevens	7	13	53.8%
Peter Jones	7	14	50.0%
4 Players with	6		

BEST PAR 3 AVERAGES

(minimum 6 rounds)

<u>Player</u>	<u>Average</u>	<u>Rounds</u>	<u>Birdie +</u>
Tim Weinhart	2.925	10	9
Anthony Cordes	2.979	12	10
Jacob Tilton	3.021	12	9
Dylan Malafronte	3.042	6	5
Vinnie Paolozzi	3.042	6	5
J. P. Griffin	3.050	10	8
Chad Thomas	3.054	14	10
Hunter Clay	3.063	8	6
Jin Chung	3.083	6	4
6 Players at	3.125		

BEST PAR 4 AVERAGES

(minimum 6 rounds)

<u>Player</u>	<u>Average</u>	<u>Rounds</u>	<u>Birdie +</u>
Greg Edwards	3.817	6	20
J. P. Griffin	3.880	10	22
Luke James	3.958	12	23
(a) R. B. Clyburn	3.980	10	18
Tim Weinhart	3.925	8	16
James Mason	4.000	12	20
Jacob Tilton	4.000	12	20
Anthony Cordes	4.000	12	12
Hunter Clay	4.013	8	11
Chris Shircliff	4.017	6	11

BEST PAR 5 AVERAGES

(minimum 6 rounds)

<u>Player</u>	<u>Average</u>	<u>Rounds</u>	<u>Birdie +</u>
Greg Edwards	4.208	6	18
Jin Chung	4.458	6	13
Dylan Malafronte	4.542	6	14
Dan Merriman	4.542	6	11
Jabir Bilal	4.575	10	22
Gary Miller	4.583	6	12
Jacob Tilton	4.604	12	23
Tim Weinhart	4.625	10	16
(a) Scotty Scott	4.625	6	11
J. P. Griffin	4.650	10	20

MOST IN A ROUND

Eagles	2	Rex Ross	2019	Round 2
	2	Francisco Bide	2024	Round 1
	2	Jabir Bilal	2024	Round 2
Bird. or Less	9	James Mason	2020	Round 2
	9	J. P. Griffin	2020	Round 2
	9	Greg Edwards	2021	Round 1
	9	Jin Chung	2024	Round 2
Birdies	9	James Mason	2020	Round 2
	9	J. P. Griffin	2020	Round 2
	9	Greg Edwards	2021	Round 1
	9	Jin Chung	2024	Round 2
Pars or Less	18	15 Players		
		(Jacob Tilton 3 times)	(Paul Claxton & Anthony Cordes 2 times)	
Pars	17	Jeff Frasier	2020	Round 1
	17	Luke James	2021	Round 1
	17	Justin Mattheis	2023	Round 2
2s or Less	3	(a) Nathan Williams	2018	Round 1
	3	Tim Weinhart	2019	Round 2
	3	Dylan Malafronte	2023	Round 2
2s	3	(a) Nathan Williams	2018	Round 1
	3	Tim Weinhart	2019	Round 2
	3	Dylan Malafronte	2023	Round 2
3s or Less	10	Matt Elliott	2020	Round 2
3s	10	Matt Elliott	2020	Round 2
4s or Less	18	Tim Weinhart	2018	Round 1
	18	Greg Edwards	2021	Round 1
4s	15	Bill Hassell	2018	Round 1
		(a) Matthew Leeman	2019	Round 2

MOST IN A TOURNAMENT

Eagles	2	Rex Ross	2019
	2	(a) Steve Kibare	2020
	2	(a) Caleb Greiner	2022
	2	Francisco Bide	2024
	2	Jabir Bilal	2024
Birdies or Less	17	Greg Edwards	2021
Birdies	16	Greg Edwards	2021
Pars or Less	35	Anthony Cordes	2019
	35	Matt Elliott	2019
	35	Anthony Cordes	2024
Pars	31	(a) David Frank	2022
2s or Less	5	Tim Weinhart	2019
2s	5	Tim Weinhart	2019
3s or Less	16	Greg Edwards	2021
3s	14	Matt Elliott	2019
	14	Chad Thomas	2019
	14	Matt Elliott	2020
	14	Greg Edwards	2021
	15	Michael Nagy	2023
4s or Less	34	Greg Edwards	2021
4s	26	Wes Helfrich	2019
	26	Jacob Tilton	2020

CHATTAHOOCHEE GOLF CLUB 2021 - 2024

704 Rounds

	<u>Par</u>	<u>Avg</u>	<u>Low</u>	<u>High</u>	<u>Eagles</u>	<u>Birdies</u>	<u>Pars</u>	<u>Bogeys</u>	<u>DBog</u>	<u>Others</u>
Hole 1	4	4.283	3	8	0	64	418	187	30	5
Hole 2	4	4.325	3	7	0	58	402	208	29	7
Hole 3	3	3.398	2	6	0	38	395	228	39	4
Hole 4	5	5.094	3	9	8	145	383	123	32	13
Hole 5	4	4.216	3	10	0	68	450	159	23	4
Hole 6	5	5.185	3	9	1	119	388	153	34	9
Hole 7	4	4.405	2	8	1	52	369	234	40	8
Hole 8	3	3.294	2	6	0	46	425	214	18	1
Hole 9	4	4.305	3	7	0	60	413	194	30	7
Hole 10	4	4.364	3	8	0	54	395	207	43	5
Hole 11	4	4.460	2	9	1	47	366	227	50	13
Hole 12	4	4.351	3	7	0	51	396	221	31	5
Hole 13	3	3.391	2	7	0	37	387	254	21	5
Hole 14	5	5.247	3	11	2	124	356	162	43	17
Hole 15	4	4.334	2	8	1	55	421	176	39	12
Hole 16	5	4.939	3	10	9	185	378	108	22	2
Hole 17	3	3.395	2	9	0	53	401	188	51	11
Hole 18	4	4.337	2	8	1	64	385	214	33	7
Front	36	38.504	31	51	10	650	3643	1700	275	58
Back	36	38.817	32	51	14	670	3485	1757	333	77
Totals	72	77.321	63	99	24	1320	7128	3457	608	135

CHATTAHOOCHEE GOLF CLUB 2018-2020

561 Rounds

	<u>Par</u>	<u>Avg</u>	<u>Low</u>	<u>High</u>	<u>Eagles</u>	<u>Birdies</u>	<u>Pars</u>	<u>Bogeys</u>	<u>DBog</u>	<u>Others</u>
Hole 1	4	4.340	2	10	1	51	314	157	30	8
Hole 2	4	4.258	3	10	0	68	331	126	26	10
Hole 3	3	3.217	2	6	0	57	345	144	10	5
Hole 4	4	4.280	3	8	0	61	323	144	27	6
Hole 5	3	3.346	1	7	1	45	303	187	22	3
Hole 6	5	5.027	3	9	1	140	300	92	20	8
Hole 7	4	4.269	2	7	1	59	329	134	36	2
Hole 8	5	4.815	3	7	8	194	266	80	13	0
Hole 9	4	4.310	3	7	0	48	329	151	28	5
Hole 10	4	4.080	3	8	0	94	348	102	15	2
Hole 11	4	4.225	3	9	0	71	334	125	27	4
Hole 12	3	3.266	2	7	0	47	338	159	15	2
Hole 13	5	4.740	3	9	11	219	249	73	6	3
Hole 14	4	4.066	2	8	1	94	349	106	7	4
Hole 15	5	5.009	3	10	1	123	327	95	12	3
Hole 16	4	4.250	3	8	0	56	341	136	26	2
Hole 17	3	3.280	1	6	1	35	349	160	14	2
Hole 18	4	4.223	3	9	0	57	349	134	18	3
Front	36	37.863	30	50	12	723	2840	1215	212	47
Back	36	37.137	30	50	14	796	2984	1090	140	25
Totals	72	75.000	64	93	26	1519	5824	2305	352	72